	TABULATION OF BIDS																
PROJECT:	Kamehameha Highway Rehabilitation Vicinity of Kapuhi Street to Dairy Road																
PROJECT NO.:	NH-083-1(77)																
NET LENGTH:																	OF HAWAII
ISLAND: DISTRICT:							AWE CTION, LLC		E PACIFIC ORATION		BUILDERS ORATION	-	ID HIGHWAY ERS, LLC		GLOVER TD.		TMENT OF PORTATION
TYPE CODE:	06, 43															HIGHWAY	YS DIVISION
DATE ADVERTISED:				7													
BID OPENED:	June 10, 2021	** NOTE: ( shown in		5													
COMPLETION TIME:	Two Hundred Eighty (280) Working Days	columns a **APPROX.		APPROX.													
ITEM NO.	ITEM	QUANTITY			UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
209.1000	Installation, Maintenance, Monitorinng & Removal of BMP	LS	LS	LS	LS	LS	\$170,000.00	LS	\$353,200.00	LS	\$199,100.00	LS	\$600,000.00	LS	\$150,000.00	LS	\$120,000.00
209.2000	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	FA	FA	\$90,000.00	FA	\$90,000.00	FA	\$90,000.00	FA	\$90,000.00	FA	\$90,000.00	FA	\$90,000.00
212.1000	Archaeological Monitoring	FA	FA	FA	FA	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00
219.1000	Determination and Characterization of Fill Material	LS	LS	LS	LS	LS	\$160,000.00	LS	\$98,500.00	LS	\$60,000.00	LS	\$2,500.00	LS	\$25,000.00	LS	\$5,000.00
301.1000	Hot Mix Asphalt Base Course	15	TON	15	TON	\$750.00	\$11,250.00	\$801.00	\$12,015.00	\$587.00	\$8,805.00	\$1,000.00	\$15,000.00	\$2,000.00	\$30,000.00	\$225.00	\$3,375.00
305.1000	Aggregate Subbase	40	CY	40	CY	\$270.00	\$10,800.00	\$2,350.00	\$94,000.00	\$529.00	\$21,160.00	\$250.00	\$10,000.00	\$400.00	\$16,000.00	\$250.00	\$10,000.00
401.1000	HMA Pavement, Mix No. IV	10	TON	10	TON	\$1,060.00	\$10,600.00	\$1,670.00	\$16,700.00	\$587.00	\$5,870.00	\$2,000.00	\$20,000.00	\$3,000.00	\$30,000.00	\$150.00	\$1,500.00
401.2000	PMA Pavement	22,000	TON	22,000	TON	\$222.00	\$4,884,000.00	\$205.00	\$4,510,000.00	\$251.00	\$5,522,000.00	\$255.00	\$5,610,000.00	\$310.00	\$6,820,000.00	\$300.00	\$6,600,000.00
401.3000	HMA Pavement, Mix No. V, Leveling	1,200	TON	1,200	TON	\$225.00	\$270,000.00	\$316.00	\$379,200.00	\$392.00	\$470,400.00	\$150.00	\$180,000.00	\$360.00	\$432,000.00	\$150.00	\$180,000.00
401.7000	Pavement Smoothness Incentive	Allow	Allow	Allow	Allow	Allow	\$25,000.00	Allow	\$25,000.00	Allow	\$25,000.00	Allow	\$25,000.00	Allow	\$25,000.00	Allow	\$25,000.00
414.1000	Excavation of Weakened Pavement Areas	700	CY	700	CY	\$140.00	\$98,000.00	\$202.00	\$141,400.00	\$852.00	\$596,400.00	\$500.00	\$350,000.00	\$390.00	\$273,000.00	\$120.00	\$84,000.00
415.1000	Cold Planing	70,000	SY	70,000	SY	\$13.00	\$910,000.00	\$20.50	\$1,435,000.00	\$16.00	\$1,120,000.00	\$30.00	\$2,100,000.00	\$22.00	\$1,540,000.00	\$14.00	\$980,000.00
415.2000	Planing Pavement Profile	LS	LS	LS	LS	LS	\$90,000.00	LS	\$75,200.00	LS	\$341,000.00	LS	\$25,000.00	LS	\$40,000.00	LS	\$25,000.00
416.1000	Paving Grid, GlasGrid 8511TF or Equivalent	75,000	SY	75,000	SY	\$10.00	\$750,000.00	\$12.40	\$930,000.00	\$10.00	\$750,000.00	\$11.00	\$825,000.00	\$16.00	\$1,200,000.00	\$13.50	\$1,012,500.00
507.1000	Metal Railing at Culvert BL Sta. 220+00	1	EA	1	EA	\$61,100.00	\$61,100.00	\$59,850.00	\$59,850.00	\$58,600.00	\$58,600.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$21,000.00	\$21,000.00
507.2000	Modified Delaware Retrofit at Culvert Sta. BL 337+98.50	1	EA	1	EA	\$2,000.00	\$2,000.00	\$43,300.00	\$43,300.00	\$40,600.00	\$40,600.00	\$25,000.00	\$25,000.00	\$230,000.00	\$230,000.00	\$25,000.00	\$25,000.00
507.3000	Modified Delaware Retrofit at Culvert Sta. BL 341+97.00	1	EA	1	EA	\$4,000.00	\$4,000.00	\$41,400.00	\$41,400.00	\$42,400.00	\$42,400.00	\$25,000.00	\$25,000.00	\$180,000.00	\$180,000.00	\$27,000.00	\$27,000.00
603.9000	Clean Existing Culverts	FA	FA	FA	FA	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00
604.1000	Type I Steel Grates	1	EA	1	EA	\$8,000.00	\$8,000.00	\$7,390.00	\$7,390.00	\$7,300.00	\$7,300.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00
604.2000	Type II Steel Frame and Grates	1	EA	1	EA	\$20,700.00	\$20,700.00	\$12,300.00	\$12,300.00	\$12,100.00	\$12,100.00	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00	\$30,000.00	\$30,000.00
604.3000	Type 5-A9-P Steel Frame and Grates	1	EA	1	EA	\$23,800.00	\$23,800.00	\$13,550.00	\$13,550.00	\$13,300.00	\$13,300.00	\$30,000.00	\$30,000.00	\$11,000.00	\$11,000.00	\$35,000.00	\$35,000.00
604.4000	Type "1" Grated Drop Inlet, 4.00 feet to 4.99 feet	1	EA	1	EA	\$165,000.00	\$165,000.00	\$67,200.00	\$67,200.00	\$65,800.00	\$65,800.00	\$80,000.00	\$80,000.00	\$160,000.00	\$160,000.00	\$75,000.00	\$75,000.00
604.5000	Type "1" Grated Drainage Structure, 1.00 feet to 1.99 feet	1	EA	1	EA	\$145,000.00	\$145,000.00	\$52,950.00	\$52,950.00	\$45,500.00	\$45,500.00	\$150,000.00	\$150,000.00	\$230,000.00	\$230,000.00	\$115,000.00	\$115,000.00
606.0100	Guardrail Type, Strong Post W-beam	25	LF	25	LF	\$155.00	\$3,875.00	\$151.00	\$3,775.00	\$148.00	\$3,700.00	\$100.00	\$2,500.00	\$150.00	\$3,750.00	\$80.00	\$2,000.00
606.0200	Guardrail Type, 31" W-Beam Standard 8" Offset Block	100	LF	100	LF	\$155.00	\$15,500.00	\$151.00	\$15,100.00	\$148.00	\$14,800.00	\$100.00	\$10,000.00	\$150.00	\$15,000.00	\$80.00	\$8,000.00
606.0300	Guardrail Type, Strong Post Thrie Beam	378	LF	378	LF	\$155.00	\$58,590.00	\$151.00	\$57,078.00	\$148.00	\$55,944.00	\$100.00	* \$37,800.00	\$150.00	\$56,700.00	\$90.00	\$34,020.00
606.0400	Guardrail Type, 31" W-Beam Standard 8" Offset Block (8' Posts)	50	LF	50	LF	\$155.00	\$7,750.00	\$151.00	\$7,550.00	\$148.00	\$7,400.00	\$100.00	\$5,000.00	\$150.00	\$7,500.00	\$80.00	\$4,000.00
606.0500	Guardrail Type, Strong Post Thrie Beam (8' Posts)	338	LF	338	LF	\$155.00	\$52,390.00	\$151.00	\$51,038.00	\$148.00	\$50,024.00	\$100.00	* \$33,800.00	\$150.00	\$50,700.00	\$90.00 Sheet No. 1 of 4 She	\$30,420.00

Sheet No. 1 of 4 Sheets

	TABULATION OF BIDS				T			1								1	
PROJECT	Kamehameha Highway Rehabilitation Vicinity of Kapuhi Street to Dairy Road																
	NH-083-1(77)	1															
NET LENGTH: 3.78 Miles ISLAND: Oahu DISTRICT: Koolauloa TYPE CODE: 06, 43							LAWE ICTION, LLC		E PACIFIC ORATION		BUILDERS ORATION		ND HIGHWAY DERS, LLC		. GLOVER TD.	DEPART TRANSP	of Hawaii Iment of Ortation /S Division
DATE ADVERTISED: BID OPENED:	February 26, 2021 June 10, 2021	** NOTE: C	Quantities	7													
	Two Undeed Fights (200) Westing Dave	shown in columns ar	these														
	: Two Hundred Eighty (280) Working Days	**APPROX.		APPROX.													
ITEM NO.	ITEM	QUANTITY	UNITS	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
606.0600	Terminal Section Type, Trailing-End Anchorage System	4	EA	4	EA	\$4,000.00	\$16,000.00	\$3,920.00	\$15,680.00	\$3,840.00	\$15,360.00	\$3,325.00	\$13,300.00	\$4,000.00	\$16,000.00	\$5,000.00	\$20,000.00
606.0700	Terminal Section Type, MSKT or Equivalent	1	EA	1	EA	\$7,000.00	\$7,000.00	\$6,720.00	\$6,720.00	\$6,580.00	\$6,580.00	\$8,000.00	\$8,000.00	\$7,000.00	\$7,000.00	\$12,000.00	\$12,000.00
606.0800	Terminal Section Type, MSKT-SP TL-2 or Equivalent	9	EA	9	EA	\$7,000.00	\$63,000.00	\$6,720.00	\$60,480.00	\$6,580.00	\$59,220.00	\$7,600.00	\$68,400.00	\$7,000.00	\$63,000.00	\$8,000.00	\$72,000.00
606.1000	Guardrail Type 3 Thrie Beam Transition at Culvert BL Sta. 337+98.50	LS	LS	LS	LS	LS	\$8,700.00	LS	\$8,470.00	LS	\$8,290.00	LS	\$25,000.00	LS	\$20,000.00	LS	\$14,000.00
606.2000	Guardrail Type 3 Thrie Beam Transition at Culvert BL Sta. 341+97.00	LS	LS	LS	LS	LS	\$8,700.00	LS	\$11,350.00	LS	\$11,100.00	LS	\$25,000.00	LS	\$22,000.00	LS	\$18,000.00
606.3000	"D2" Endpost Upgrade at Culvert BL Sta. 337+98.50	LS	LS	LS	LS	LS	\$110,000.00	LS	\$88,500.00	LS	\$81,100.00	LS	\$150,000.00	LS	\$80,000.00	LS	\$160,000.00
615.0110	16-Inch Milled Rumble Strip, Centerline	23,111	LF	23,111	LF	\$5.00	\$115,555.00	\$11.00	\$254,221.00	\$9.00	\$207,999.00	\$5.25	\$121,332.75	\$6.00	\$138,666.00	\$5.00	\$115,555.00
623.3060	Traffic Signal Assembly (1-Way, 12-Inch, 1-3 Section Vertical with Mast-Arm Mounting) with LED Signal Lights	4	EA	4	EA	\$1,560.00	\$6,240.00	\$2,240.00	\$8,960.00	\$2,200.00	\$8,800.00	\$2,000.00	\$8,000.00	\$2,200.00	\$8,800.00	\$1,600.00	\$6,400.00
623.3900	Approach-Only Microwave Vehicle Detector	2	EA	2	EA	\$3,860.00	\$7,720.00	\$4,140.00	\$8,280.00	\$4,100.00	\$8,200.00	\$5,000.00	\$10,000.00	\$4,000.00	\$8,000.00	\$600.00	\$1,200.00
623.4001	Traffic Signal Back Plate (Louvered, Black with Border)	4	EA	4	EA	\$1,560.00	\$6,240.00	\$1,900.00	\$7,600.00	\$1,900.00	\$7,600.00	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00	\$150.00	\$600.00
623.4042	Pedestrian Push Button Pedestal with Foundation and Introduction Sign (with One Push Button)	3	EA	3	EA	\$4,280.00	\$12,840.00	\$4,590.00	\$13,770.00	\$4,500.00	\$13,500.00	\$5,000.00	\$15,000.00	\$4,500.00	\$13,500.00	\$4,000.00	\$12,000.00
623.7051	Loop Detector Sensing Unit (6x6) One Loop	2	EA	2	EA	\$1,040.00	\$2,080.00	\$1,010.00	\$2,020.00	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00	\$700.00	\$1,400.00
623.7052	Loop Detector Sensing Unit (6x6) Two Loops	2	EA	2	EA	\$2,090.00	\$4,180.00	\$2,020.00	\$4,040.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00	\$1,400.00	\$2,800.00
623.7054	Loop Detector Sensing Unit (6x6) Four Loops	1	EA	1	EA	\$6,260.00	\$6,260.00	\$6,050.00	\$6,050.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00	\$2,600.00	\$2,600.00
623.7056	Loop Detector Sensing Unit (6x6) Six Loops	1	EA	1	EA	\$6,260.00	\$6,260.00	\$6,050.00	\$6,050.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00	\$3,800.00	\$3,800.00
626.2000	Adjusting Water Manhole Frame and Cover	44	EA	44	EA	\$2,540.00	\$111,760.00	\$1,620.00	\$71,280.00	\$2,500.00	\$110,000.00	\$800.00	\$35,200.00	\$2,000.00	\$88,000.00	\$850.00	\$37,400.00
626.3000	Adjusting Water Meter Frame and Cover	12	EA	12	EA	\$2,540.00	\$30,480.00	\$1,620.00	\$19,440.00	\$2,500.00	\$30,000.00	\$800.00	\$9,600.00	\$2,000.00	\$24,000.00	\$850.00	\$10,200.00
626.4000	Adjusting Water Valve Box Frame and Cover	97	EA	97	EA	\$2,540.00	\$246,380.00	\$1,620.00	\$157,140.00	\$2,500.00	\$242,500.00	\$800.00	\$77,600.00	\$2,000.00	\$194,000.00	\$850.00	\$82,450.00
629.1010	Double 4-Inch Pavement Stripinng (Thermoplastic Extrusion, RPM Centerline Rumble Strip)	1,595	LF	1,595	LF	\$3.20	\$5,104.00	\$3.50	\$5,582.50	\$3.30	\$5,263.50	\$3.50	\$5,582.50	\$4.00	\$6,380.00	\$4.00	\$6,380.00
629.1011	Double 4-Inch Pavement Stripping (Thermoplastic Hot Spray, Milled	7,836	LF	7,836	LF	\$5.00	\$39,180.00	\$4.50	\$35,262.00	\$4.40	\$34,478.40	\$4.50	\$35,262.00	\$4.50	\$35,262.00	\$4.00	\$31,344.00
629.1020	Centerline Rumble Strip Area) 4-Inch Pavement Striping (Thermoplastic Extrusion)	1,111	LF	1,111	LF	\$4.00	\$4,444.00	\$3.50	\$3,888.50	\$3.70	\$4,110.70	\$4.00	\$4,444.00	\$4.00	\$4,444.00	\$2.00	\$2,222.00
629.1021	4-Inch Pavement Striping (Thermoplastic Hot Spray)	1,062	LF	1,062	LF	\$3.50	\$3,717.00	\$4.00	\$4,248.00	\$3.80	\$4,035.60	\$4.00	\$4,248.00	\$4.00	\$4,248.00	\$2.00	\$2,124.00
629.1022	4-Inch Pavement Striping - Guide Line (Thermoplastic Extrusion)	721	LF	721	LF	\$3.00	\$2,163.00	\$3.00	\$2,163.00	\$3.00	\$2,163.00	\$3.00	\$2,163.00	\$3.00	\$2,163.00	\$1.50	\$1,081.50
629.1023	4-Inch Lane Striping (10-Foot Profiled, Thermoplastic Extrusion)	88	LF	88	LF	\$10.00	\$880.00	\$10.40	\$915.20	\$10.20	\$897.60	\$10.50	\$924.00	\$10.00	\$880.00	\$2.00	\$176.00
629.1024	4-Inch Lane Striping (10-Foot Profiled, Thermoplastic Hot Spray)	12,051	LF	12,051	LF	\$3.00	\$36,153.00	\$3.00	\$36,153.00	\$2.80	\$33,742.80	\$2.75	\$33,140.25	\$3.00	\$36,153.00	\$2.00	\$24,102.00
629.1110	6-Inch Pavement Striping - Guide Line (Thermoplastic Extrusion)	110	LF	110	LF	\$8.00	\$880.00	\$8.50	\$935.00	\$8.60	\$946.00	\$9.00	\$990.00	\$8.00	\$880.00	\$3.00	\$330.00
																Sheet No. 2 of 4 She	

Sheet No. 2 of 4 Sheets

PROJECT:	Kamehameha Highway Rehabilitation Vicinity of Kapuhi Street to Dairy Road																
PROJECT NO.:	NH-083-1(77)	1															
NET LENGTH:	3.78 Miles																OF HAWAII
ISLAND: DISTRICT:						HI'IL/ CONSTRU(			E PACIFIC ORATION		BUILDERS ORATION		ID HIGHWAY DERS, LLC		GLOVER TD.		TMENT OF PORTATION
TYPE CODE:	06, 43						,										YS DIVISION
ATE ADVERTISED:			-	7													
	D: June 10, 2021 ** NOTE: Quantities shown in these																
COMPLETION TIME:	Two Hundred Eighty (280) Working Days	columns are for in-   **APPROX.															
ITEM NO.	ITEM	QUANTITY	UNITS	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.1111	6-Inch Pavement Striping (Thermoplastic Extrusion)	2,112	LF	2,112	LF	\$2.50	\$5,280.00	\$2.50	\$5,280.00	\$2.50	\$5,280.00	\$2.50	\$5,280.00	\$2.50	\$5,280.00	\$2.50	\$5,280.00
	8-Inch Pavement Striping (Thermoplastic Extrusion)	44,957	LF	44,957	LF	\$3.00	\$134,871.00	\$2.50	\$112,392.50	\$2.30	\$103,401.10	\$2.25	\$101,153.25	\$3.00	\$134,871.00	\$4.00	\$179,828.0
	8-Inch Pavement Striping - Guide Line (Thermoplastic Extrusion)	3,751	LF	3,751	LF	\$3.00	\$11,253.00	\$3.00	\$11,253.00	\$3.00	\$11,253.00	\$3.00	\$11,253.00	\$3.00	\$11,253.00	\$3.00	\$11,253.0
629.1300		577	LF	577	LF	\$10.00	\$5,770.00	\$10.70	\$6,173.90	\$10.50	\$6,058.50	\$10.50	\$6,058.50	\$10.00	\$5,770.00	\$8.00	\$4,616.00
	12-Inch Pavement Striping - Diagonal (Thermoplastic Extrusion)				LF												
629.2010	12-Inch Stop Bar (Thermoplastic Extrusion)	674	LF	674		\$20.00	\$13,480.00	\$22.20	\$14,962.80	\$21.80	\$14,693.20	\$22.00	\$14,828.00	\$20.00	\$13,480.00	\$8.00	\$5,392.0
629.3010	Crosswalk Marking (Thermoplastic Extrusion)	27	LANE	27	LANE	\$781.00	\$21,087.00	\$839.00	\$22,653.00	\$821.00	\$22,167.00	\$825.00	\$22,275.00	\$750.00	\$20,250.00	\$400.00	\$10,800.0
629.3011	Pavement Arrows (Thermoplastic Extrusion)	8	EA	8	EA	\$155.00	\$1,240.00	\$167.00	\$1,336.00	\$164.00	\$1,312.00	\$165.00	\$1,320.00	\$150.00	\$1,200.00	\$300.00	\$2,400.0
629.3012	Pavement Word (Thermoplastic Extrusion)	117	EA	117	EA	\$275.00	\$32,175.00	\$295.00	\$34,515.00	\$289.00	\$33,813.00	\$290.00	\$33,930.00	\$300.00	\$35,100.00	\$300.00	\$35,100.0
629.3013	Pavement Symbol - Bike Lane (Thermoplastic Extrusion)	15	EA	15	EA	\$443.00	\$6,645.00	\$476.00	\$7,140.00	\$466.00	\$6,990.00	\$470.00	\$7,050.00	\$500.00	\$7,500.00	\$600.00	\$9,000.0
629.4010	Type "C" Pavement Markers	1,069	EA	1,069	EA	\$8.00	\$8,552.00	\$8.00	\$8,552.00	\$8.10	\$8,658.90	\$8.00	\$8,552.00	\$8.00	\$8,552.00	\$8.00	\$8,552.00
629.4011	Type "D" Pavement Markers	734	EA	734	EA	\$6.00	\$4,404.00	\$6.50	\$4,771.00	\$6.40	\$4,697.60	\$6.50	\$4,771.00	\$6.00	\$4,404.00	\$8.00	\$5,872.0
629.4012	Type "F" Pavement Markers	46	EA	46	EA	\$10.00	\$460.00	\$11.10	\$510.60	\$10.90	\$501.40	\$11.00	\$506.00	\$10.00	\$460.00	\$10.00	\$460.00
629.4013	Type "H" Pavement Markers	54	EA	54	EA	\$9.00	\$486.00	\$10.00	\$540.00	\$9.70	\$523.80	\$10.00	\$540.00	\$9.00	\$486.00	\$10.00	\$540.00
629.4014	Type "J" Pavement Markers (RPM Centerline Rumble Strip)	1,964	EA	1,964	EA	\$5.00	\$9,820.00	\$5.50	\$10,802.00	\$5.40	\$10,605.60	\$5.50	\$10,802.00	\$5.00	\$9,820.00	\$8.00	\$15,712.0
631.1010	Regulatory Sign (10 Square Feet or Less)	122	EA	122	EA	\$257.00	\$31,354.00	\$252.00	\$30,744.00	\$250.00	\$30,500.00	\$407.00	\$49,654.00	\$250.00	\$30,500.00	\$400.00	\$48,800.0
631.1020	Regulatory Sign (10 Square Feet or Less) with Post(s)	134	EA	134	EA	\$601.00	\$80,534.00	\$588.00	\$78,792.00	\$580.00	\$77,720.00	\$780.00	\$104,520.00	\$600.00	\$80,400.00	\$600.00	\$80,400.0
631.1030	Regulatory Sign (10 Square Feet or Less) with Post(s) (7' Mounting Ht.)	2	EA	2	EA	\$601.00	\$1,202.00	\$588.00	\$1,176.00	\$580.00	\$1,160.00	\$957.00	\$1,914.00	\$600.00	\$1,200.00	\$700.00	\$1,400.0
631.2010	Warning Sign (10 Square Feet or Less)	41	EA	41	EA	\$297.00	\$12,177.00	\$179.00	\$7,339.00	\$290.00	\$11,890.00	\$334.00	\$13,694.00	\$300.00	\$12,300.00	\$400.00	\$16,400.0
631.2020	Warning Sign (10 Square Feet or Less) with Post(s)	44	EA	44	EA	\$658.00	\$28,952.00	\$644.00	\$28,336.00	\$630.00	\$27,720.00	\$767.00	\$33,748.00	\$600.00	\$26,400.00	\$600.00	\$26,400.0
631.2030	Warning Sign (10 Square Feet or Less) with 7 Feet Post(s)	4	EA	4	EA	\$658.00	\$2,632.00	\$644.00	\$2,576.00	\$630.00	\$2,520.00	\$767.00	\$3,068.00	\$600.00	\$2,400.00	\$700.00	\$2,800.0
631.3010	Directional Sign (10 Square Feet or Less)	6	EA	6	EA	\$332.00	\$1,992.00	\$325.00	\$1,950.00	\$320.00	\$1,920.00	\$334.00	\$2,004.00	\$300.00	\$1,800.00	\$600.00	\$3,600.0
631.3020	Directional Sign (10 Square Feet or Less) with Post(s)	4	EA	4	EA	\$829.00	\$3,316.00	\$812.00	\$3,248.00	\$800.00	\$3,200.00	\$694.00	\$2,776.00	\$800.00	\$3,200.00	\$600.00	\$2,400.0
632.0100	Type III Object Marker with Post(s)	14	EA	14	EA	\$400.00	\$5,600.00	\$392.00	\$5,488.00	\$390.00	\$5,460.00	\$460.00	\$6,440.00	\$400.00	\$5,600.00	\$600.00	\$8,400.0
632.0200	Reflector Marker (RM-5, White) Mounted on Guardrail	110	EA	110	EA	\$57.20	\$6,292.00	\$56.00	\$6,160.00	\$60.00	\$6,600.00	\$84.00	\$9,240.00	\$60.00	\$6,600.00	\$35.00	\$3,850.0
632.0420	Mile Post Marker and Route Number Plate with Post (Bi-Directional)	8	EA	8	EA	\$498.00	\$3,984.00	\$487.00	\$3,896.00	\$480.00	\$3,840.00	\$752.00	\$6,016.00	\$500.00	\$4,000.00	\$1,000.00	\$8,000.0
635.1000	HMA Sidewalk, Mix No. IV (54 Ton)	LS	LS	LS	LS	\$24,900.00	\$24,900.00	\$55,050.00	\$55,050.00	\$30,900.00	\$30,900.00	\$25,000.00	\$25,000.00	\$150,000.00	\$150,000.00	LS	\$8,100.0

Sheet No. 3 of 4 Sheets

	TABULATION OF BIDS					T											
DISTRICT: TYPE CODE: DATE ADVERTISED:	Kamehameha Highway Rehabilitation Vicinity of Kapuhi Street to Dairy Road NH-083-1(77) 3.78 Miles Oahu Koolauloa 06, 43 February 26, 2021	_				AWE CTION, LLC		E PACIFIC ORATION		BUILDERS ORATION	-	ND HIGHWAY DERS, LLC	-	glover TD.	DEPAR TRANSP	OF HAWAII TMENT OF 'ORTATION YS DIVISION	
BID OPENED:	June 10, 2021	** NOTE: C															ļ
	Two Hundred Eighty (280) Working Days	shown in columns ar															ļ
COMPLETION TIME.	Two Fullated Eighty (200) Working Days	**APPROX.		APPROX.		+		++		<u>├</u> ────┤		+		<u> </u>		+	
ITEM NO.	ITEM			QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
636.1000	E-Construction license	FA	FA	FA	FA	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00
643.1000	Maintenance of Existing Landscape Areas	FA	FA	FA	FA	FA	\$60,000.00	FA	\$60,000.00	FA	\$60,000.00	FA	\$60,000.00	FA	\$60,000.00	FA	\$60,000.00
645.0100	Traffic Control	LS	LS	LS	LS	LS	\$695,000.00	LS	\$675,000.00	LS	\$902,000.00	LS	\$2,844,281.75	LS	\$1,985,048.00	LS	\$640,000.00
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	FA	FA	\$220,000.00	FA	\$220,000.00	FA	\$220,000.00	FA	\$220,000.00	FA	\$220,000.00	FA	\$160,000.00
648.1000	Field-Posted Drawings	LS	LS	LS	LS	LS	\$6,090.00	LS	\$1,120.00	LS	\$20,000.00	LS	\$500.00	LS	\$2,000.00	LS	\$5,000.00
691.1000	Longitudinal Channelizing Curb System	177	EA	177	EA	\$435.00	\$76,995.00	\$269.00	\$47,613.00	\$270.00	\$47,790.00	\$475.00	\$84,075.00	\$300.00	\$53,100.00	\$400.00	\$70,800.00
693.1000	Terminal Impact Attenuator QuadGuard QG28024 with Tension Strut Backup or Equivalent (6 Each)	LS	LS	LS	LS	LS	\$310,000.00	LS	\$220,400.00	LS	\$176,400.00	LS	\$400,000.00	LS	\$275,000.00	LS	\$198,000.00
693.2000	Terminal Impact Attenuator QuadGuard QG28024 with Concrete Backup or Equivalent (1 Each)	LS	LS	LS	LS	LS	\$52,600.00	LS	\$31,000.00	LS	\$25,200.00	LS	\$75,000.00	LS	\$55,000.00	LS	\$33,000.00
694.0100	State-Furnished Portable Concrete Barrier	19	EA	19	EA	\$3,340.00	\$63,460.00	\$4,300.00	\$81,700.00	\$2,600.00	\$49,400.00	\$6,000.00	\$114,000.00	\$8,000.00	\$152,000.00	\$1,500.00	\$28,500.00
694.0200	Contractor-Furnished Inertial Barrier System	4	EA	4	EA	\$15,400.00	\$61,600.00	\$16,850.00	\$67,400.00	\$6,000.00	\$24,000.00	\$15,000.00	\$60,000.00	\$20,000.00	\$80,000.00	\$10,000.00	\$40,000.00
695.1000	Public Education Materials or Services	FA	FA	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
696.1000	Maintenance of Trailers	FA	FA	FA	FA	FA	\$80,000.00	FA	\$80,000.00	FA	\$80,000.00	FA	\$80,000.00	FA	\$80,000.00	FA	\$80,000.00
696.2000	Field Office Trailer (Not to Exceed \$42,000.00)	LS	LS	LS	LS	LS	\$42,000.00	LS	\$42,000.00	LS	* \$42,000.00	LS	\$42,000.00	LS	\$42,000.00	LS	\$42,000.00
699.1000	Mobilization (Not to exceed 6 percent of the sum of all items excluding the bid price of this item)	LS	LS	LS	LS	LS	\$629,526.00	LS	\$690,000.00	LS	* \$775,875.88	LS	\$900,000.00	LS	\$900,000.00	LS	\$600,000.00
			1								l						'

Sum of All Items

\$11,975,000.00

\$12,423,764.00

\*\* \$13,707,140.58

\* Corrected Amount \*\* Bid Rejected due to incomplete DBE submission

I certify that this is a true and correct tabulation of bids for this project.

Ya

06/22/2021

Lawrence Laus, Project Manager

Date

\* \$16,689,536.00

\$17,275,000.00

\$12,970,634.50